Roselle A. Glean

Management Science

Thursday 6:00 – 9:00 p.m.

Write the dual of the following Primal:

1. fmax = 10X1 + 4X2




3. fmin = 2X1 + 3X2



Subject to: 





Subject to:






8X1 + 3X2 <140




4X1 + 11X2 > 20
 



X1 + X2 < 11





X1 + 8X2 > 14



X1 < 15 





3X1 > 10



X1 > 0; i = 1, 2 




X1 > 0; i = 1, 2

Answer: 





Answer:

fmin = 140W1 + 11W2 + 15W3  


fmax = 20W1 + 14W2 + 10W3

Subject to:





Subject to: 



8W1 + W2 + W3 + > 10



4W1 + W2 + 3W3 < 2



3W1 + W2 > 4 





11W1 + 8W2 < 10

2. fmax = 4X1 + 5X2 + X3



4. fmin = 5X1 + 11X2 + 6X3 + X4

Subject to: 





Subject to:



X1 + 3X3 <11





4X2 + X3 + > 8



8X2 + X3 < 70





X1 + 5X4 > 6



X1 + 4X2 + 8X3 < 15




3X3 > 11



X1 > 0; i = 1, 2, 3




X4 > 7


Answer:





Answer:

fmin = 11W1 + 70W2 + 15W3



fmax = 8W1 + 6W2 + 11W3 + 7W4

Subject to:





Subject to:



W1 + W3 > 4





4W2 < 5



8W2 + 4W3 > 5




W1 < 11



3W1 + W2 + 8W3 > 1   



W3 + 3W3 < 6










5W4 + W4 < 4

